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DE PARTMEN TAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)

Maximum Time : 1 hour P Maximum Marks : 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarar@g Ml euens ellammggmer

Read the following instructions carefully before beginning to answer the questions.

aflenmésené e ellenwallss Qsrmi@h apery SpésamL i fle|ramer SaUATONS Lily &56yLD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.

Qps ipleymssdier e urdaflar aurigmsseia, @GpasGspu Comeuliuger Quar
umellamfle euTiéen S&(@HD S hiELD.

This booklet should not be opened till the Invigilator gives a signal to open it. As’
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

Qs elamstsr@lulmear  seamsTeailumaren &@Jm;ﬁ QumeugH@ @peanent  EpsssaLrg).

samarafiLurert: eflamsdsrgludamen dpiusneE s <iaflsse e aﬂmﬂg@g,n@uxﬁ]mm Smba)
eflenLwafl&s QgrrmigemD.

1. This question booklet contains 40 number of objective type questions. Prior to attempting to

answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 _minutes after which no request will be entertained.
Qevcllanrggrar 40 Caraigd cums clamssmer QaTaTLg). efl@remriugnyiser  elenLwellés
QT apen, eflamggreafle eraan alamésesd GuLib QupmieTereaneu ereuensb, gGasanh fa
ussmsear / eflamasdr oFHLLULTOD B (HeTerareur geuengwD FHlunTggs Qsrareraw.
eflamsgrafier gCsaud Gep @mudear dlamgsraary Qupp Ger Lsg) BIAIL_i&Eha@er oiemm
sanarafluurerfl b Qsfelss Couem(pib. é{g,r;)@ dpE Csfelésiu@n Carflémasd gawb ghmé
GemeTeriLiL T L mg).

2. Answers all questions. All questions carry equal marks.

NS aﬁ]mrresas@g;@m Gﬁ]sml_u_lerﬂa;éﬁ Geuair(Hib. 2D TEF aS]en‘rrra;a;@m gwwnear WSHOGLeTs6T
Q& meiT_eney.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

efamemriiugnyfler ufQeuaranern Qeieilamssrefen G auag LsssSHD shUsa @gEslILL [Harter
BLsdd erps CeuarrBid. eflamTdgraiier Goum eTapgsu b eT(PSE gl Mg). .

The sheet before the last page of the question booklet shall be used for any rough work.
Aanmsgrefer sl 8 LESSANE (e usssHD rough work erupd) uniés o LGLTASEs GsrerareyL.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) gaGearim damsipgn (A), B), (C), (D) ea praig efleosd GerhssuuL(HaTarg).
eflaramriugnyi euphle gCaabd @m sflurar elamLmwusg Gy Caliw CauamHb. RaTmsE,
Cupul L sflwrer ellenLaser gp ellameiln@ @mULSTS smblarmea, euphdlea. ereuellan 8l&E
sflwreng eram smEHHraGert, seuefanemw Hlpadll @ s Gauar(HLb.

(b)  ercueundl@miGenbd, ¢ elameineE @Cr o edamLmus srear CaHpos0H s CauamHLb.

© @n dardpe eamée CopulL alLmsalld dam waldsiiulgmbsrd eiela
sapTaTsTs smSLILL R, Sdelamelne wdHiQuer euphsiuLbmlLrg.

(d) OMR &flenrg grefler @hssiu L sflurer efentsamery Qurmsg, Gurss wHUAUSTSET
auprslU@L (e elamelng@ e eulLgde (GOUElL) Blpall L efler wl HGw wdiGua
auPEIS saTsHl oT(HEgIS CamareTliuHib).

Do not mark the answers in the Question Booklet.
Menmggreaier ellansamens GOILIALE anlmg).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

Aamemriiugmy, eSlamgsrailen abs @@ LssSMmLD, BaaCaur dag &PlsEsGaur s Mg @gﬁm
perLQumid Gurg), dlemmssranar Garey sl sangedl () QeauafliCGu arhHsg Cede &@jm;ﬁ Slanwirg).
Cairey Wigbs DearanCr eflamgsraner er(Hi5gE QFwe g@indlssiiubeur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

* Cupsan.  Peajrseies gCsaybd Bolu®Gowrames GCsreureenuid TRE@D seamLemer [

BL GG &en&&E 2 arents Crfl(Hib.

In case of doubt, English version is the final.
elemmasafler snCss0 mUIGe, <phide augeld Qar@asiul Herer efamssGer @mflurarg.
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2.

ﬁ n;l D) 2n+1

Sum Of the deviations about mean is

W Zero ‘ (B) Minimum
‘C) Maximum D) 1
syretuladlmpbgl elssmisaflen snBsean .
(A ussub (B) @onpsulsn
C) =fsulsnd D) 1

If the grouped data has open-end classes one can not calculated

& Mean : (B) Median

(C)  Mode (D) QD

aumasluBSsULLL efleurwreang Snps G fley @am_@euaﬂa;aﬂc;u &mwpgﬁ]@mgnm ﬁ]meu@eusm@mg‘ﬂcu
gGa@Ib geram samsdlL (g wrg).

A) sl p&agraf (B) @Gﬁ)l_ﬁmﬁl)‘
©)  wsh (D) sreowmenmbd

The arithmetic mean of n natural numbers from 1 to n is

B)

(A) n(n +1) n(n+1)
’ 2 4

2

1-e\(mbe) n cueywetar n’ @uwid erammasafien sl HF gyreflwreng)

n(n+1) : n(n+1)
@ Mt g T
n+l : 2n+1
©) : D) :
Mean — Mode =
(A) Median | (B) 3 Median
(C) 3 Mean &7 3 (Mean — Median)
Fal_(pégqrefl — e = ‘
4) @oLflaw (B) 3 QeaLhaw
C) 3 &l @asyrai D) 3 (sl @Bégrraf — Qen_flenen)
3 ‘ 117/DD/18
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5. ———1is Called a positional average.

(A)  Mean @’ Median
(C) GM. (D) H.M.
————— qm Hlaaamw gyrafl e Denwssiu(HEng)

(A) &L@é&u‘n&ﬁ] (B) @ _flee

(C)  @aenss synadl - (D) Qupée armafl
6. Coefficient of correlation

¥ Lies between —1 and +1

B) -

C) +w»

(D) Lies between —® and +

@l (Hnesbap erarig

(A)  -1whmb +1 @ Qe ule o crerg)

® -

C) +w

D -« mg’)@nb + © &@ @enLufler 2 drerg)

T Random Sampling is also called as
(A) Non Probability sampling
0,8 Probability sampling
(C) Systematic sampling
(D)  Cluster sampling

F aumuliy sa0n (S50 eTar enp&EsiL (Heug)

A)  Hapsse) oers wrH B) Hapssey wrdlfl
©) equr@weap b _ (D)  derevi wrl
8. Mean, Median and Mode of the distribution coincide in

7  Normal distribution
(B) - Binomial distribution
(C)  Poisson distribution
(D)  Bernoulli distribution
gynefl, @eL Hlenaw HMIL (1P&EH @@gb@uﬁm SGDLOGUE]
A) Qualena Lreud . B)  FopUY Lreued

(C)  umbeven uyeue D) Quremered LiFeue

117/DD/18 4



9.

10.

11.

Probability of rejecting H, when H, is true

gﬂ' Type 1 error

(B) Type 2 error
(C) Probable error

(D) Relative error

"Ho sflurs @méen Gurs) ﬂryﬁaarﬂé;@m Hlapssey

(A)  eems 1 Geny
(B) cums 2 Qenp
(C) ersdwinrer Genw

D) @QGL@ Genp

The mean of squared deviations about the mean is called
(A) SD WY Variance
(& MD : (D) None

Ll (& &Unérﬂuﬁ]@ﬂ@,rj)@ Quplu@b eutés ellasansefer symaflurearg) -

A)  Hlr dessd (B) wrour@
(C)  sgnsfl Qs D) asadoma

Coefficient of Range

o Lt L

© = o e

oS Qaig

o b8 »

© @ P
5

117/DD/18
[Turn over



12.

13.

14.

If B, = 3 the distribution is called
J)f Mesokurtic
(B) . Platykurtic
(0)) Leptokurtic
(D) None of the above
B =3 AT BiHS LITeUed —————— cTarm) é-{smgpé;asuu@m..
A)  Que flenew
B)  @opssioL
& lesekare

(D) Cupesmidlw ergieayb @dama

If Cov (X, Y) =0 then

(A) X and Y are cofrelated
JBT X and Y are uncorrelated
(®) X and Y are linearly related
(D) None
Cov X, Y) =0 erafled
@) X wpgo Y &5 Qe Cu gl @pey 2 derg
B) X oppn Y &6 Qo Cu gl Hney @daame
©€) X,Y CpiCGan(pg QamyaLwg
D)  Qeundle gsdame

Which formula is used to calculate Range

(&) R=L+S JBf R=L-S
(© R=LxS (D) R=-;i
6i556 smam LWeTLHLD @GSSTD
@A) R=L+S . (® R=L-8

L
(© R=LxS ®) R-g

117/DD/18 6



15. Correlation coefficient is independent of change of

(A)  Origin (B) Scale
@27 Origin seindl Al (D) None
@L@@mg@a@ﬁgﬁmLm@mmnm@&mm®@Qmmm
A <8 ' (B)  emey
©) 8 wppd ey (D) Qeupdle ergieyd Gdame

16. Given the two lines of regression as 3X -4Y +8 =0 and 4X - 3Y =1, the mean pf X and'Y

are

J X=4Y=5
B) X=3Y=4.
(0 X<=2¥=2

4 5
D)  X==Y=2
o "3 3

L S

@m eoLear Qgriiyl Cursgs Gsr@eer 33X -4Y +8=0 wppd 4X-3Y =1 eens .
Qarhssiul_pererg. X wpmid ¥ Gen sal (& sypreflumeng).
A X=4Y=5
B) X=3Y=4
C) X=2Y=2

5
D Tl e
3" 3

17.  If Hy: pu=uyy, Hy 1 g # pythen the test is known as

(A) . Right tailed test
(B) Left tailed test

_ l JBT Two tailed test

(D) None of the above

Hy:p=py, Hy 1 u# pyGergenen ereucumpy am@é&ﬁu@éﬂﬁ)@
. A)  eueg aurd Cargenar :

(B) @uLg curd Congenar

© @y e Congaven

D) GCule @MUuEGLLuLelldama

7 | 117/DD/18
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18.

19.

20.

21.

e

Two unbiased dice are thrown. Find the probability that both the dice show the same

number

(A)

D= W

(B)

D)

£
2

1

Qran® useLsdr 2 BLLLIUGSDS. @@L @C‘Sq cremenantd  sraTiE@n  HlEpsse|smand

sanr_Mlweyd

(A)

(©)

D= W

Mode of Poisson Distribution
X

A =

(A) N

© 4
umiever Liraieder ups
X

(A) Yy
A

(©)

Variance of binomial distribution is

& npq

(C) npg

FEHQIUYL Lpeuellel mmiLim_reng,
@A) npqg

(C) Jnpq

Probability of an impossible event
A 1
| 1

© =

2 sTsSwndn Hlepey Hapssey
A 1

(©)

bo | =

117/DD/18

(B)

D)

®)
(D)

B)

D)

D)

- ®

(D)

W= @

1
2

1

B N!:L,

T:bql&

W= <



22;

23.

24.

= : D)

The standard error of the mean is

@) - o . - o

q|§‘ =9

grmeflllen i Libenl

@ o ® =
' n
Jn
C £ ' 15) IR
© ey (D) -
The 22- test was derived by
(&) RA. Fisher (B) Gauss
\g}f Karl Pearson (D) Laplace
- 1° Gerseenenws sem(®dg Sseuit
(A)  R.A Qegr B) smev
©) smre Qwigen (D)  Ceolievmav
Which type of chart can excel produce?
(A)  Line graphs and Pie charts only
(B)  Only line graphs .
JZ)’ Bar charts, line graphs and pie charts S | : 4

(D) Bar charts and line graphs only

aThg euens eilemasliLL LD 2 HLSH Qe piguyb?

(A) el euenyULRIEET LHMID U ueTULR&ET L HGWw

B) aurfl GUENTUL_MBISET

©)  unri euenyuLruger, cufl QUETUILMISET LHMID LSS euenuLBgeT
(D)  unf ueFUL HISET woniw eufl euenyuL & L HGw

9 117/DD/18
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95. QD:MD:SD

2 4
—:—=:1
w35
4 2
c) '=—:=:1
©) =55
srewrer ellassd : sgrefl eflwssn ; HUL dlawss
2 4
A —:=:1
(A) % e
4 2
C —:=:1
©) 53
26.  Judgement sampling is also called
‘ (A)  Systematic sampling
v(,B"r Purposive sampling
- (C) Chunk sampling
(D)  Stratified sampling
Sy wrdfl eren SiemwssLLEEDS
(A)  Seviwgs wrdflwrssn
(B) Gorsawb wrdfunssn
©C)  zmeer oA
D)  <=psE Lorr'é,]rﬂ WIT&SLD

27. The M.G.F of * distribution is given by

S

B) -

(©)
D)

(1-2t)™2
afmr”
(1+2t)™'2
an)

2> ureudlen elawsst QummEGs QsTens

(A)
(B)

©)
D)

117/DD/18

1-26)™""?
(1—2¢)™2
(1 +2t)™/2
(125

10

(B)

(D)
LD
(B)

D)

1:

1:

4

3:

X 5

3:

1

2

1

2



28. How are data organized in a spreadsheet?’

(A) Lines and Spaces

‘B) Layers and Planes

J&  Rows and Columns

(D) . Height and Width ,
@ elfigmafles grey ereueumm ephiE @#uﬁubu@ﬁm@l?
(A)  Gar@hser bpm Genbeuatlser
B)  <=ips@ser Hm Slwremmaer
(C)  auflewgsar wHmID ugr;;f,]e;a‘rr

(D) 2 wrb wHMD &L

29. A coin is tossed 5 times. Find the number of points in the sample space

A) 10 B) 25
© 32 D) 64
(% BTERTWID 5 @mﬁ) gam_Lu(B&Eng) ereile samleuafiuiiey e erar Clomgs eraflser -
@ 10 (B) 25

Jgj' 32 (D) 64

30. Large sample theory is applicable when

SO n>30

(B) n <30
(©) n <100
D) n<1000
QU DO Camum_enL Ll vweru(H&gieug) eraflen
(A) n>30
(B) n<30
(©) n <100
(D) n<1000
31. The geometric mean of the two regression coefficient b, and b, is equal to
7. ' . ® r?
© 1 i @)
B 2Lan Qg Guré@ Qapésd b, wHmb b, SHweupler Qumsse syrafurag
A r (B} -
©) 1 , D) »*

11 117/DD/18
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32.  Acardis drawn from a pack of 52 cards. Find the probability of getting a king

1 1
M TS_ (B) E g .
1 1

52 & (haer Lmdlu slige Gmba 1 L6 Quplu@ngl. Sbs @ LG Trorauns G muusnaTer
El&spssHemeud SamLHlwea]Lb.

1 1
A 13 (B) s
1 — 1
© 52 (D) 3
- 33. Prob.ability can take values from

(A) -—owto+w
(B) —wtol

JZY Oto1l
(D) —-1to+1
Pepsse) Q@b wHUusE T@ES (b
(A) — o0 HMID + o &G @anLuded 2 ararg
(B) — o0 a(mBg 1 eueny
©) 0 AmHe 1 ey
D) -1 sﬂ@’pg} +1 cuenry

34. Type 2 error denoted by

Wi B O ® 1-p
© 1+p o D) e
auans 2 (Ylenip ‘ :
@A B . B 1-p
(@) T D) «

35. Critiéal Region 1s

¥  Rejection Area (B) Acceptance Area
(C)  Probability - (D) Test Statistic Value
Sy 5L LGS erenugy
4)  vysEbd ued B)  gpEbued
C)  Hapssey (D) G&ﬁgbmmu yerefludwed iy

117/DD/18 12



36.

317.

38.

Quartile deviation

M Q3 ; Q1
® Q-Q
Q; +Q,
© S
D) Q3+Q,
SreLoraT eSlev&EsLD
Qa - Ql
() " vt >
(B) QS = Q1 }
Q; +Q
(C) . 3 = 1
D) Q+@,

Variance of sample mean is

a o
© < D) =
n i n

gl () sprafuden wrmyuTL_Teng _

2

(s Y W =
. n n
b'3 ‘ o
© = @ =
n n "

The standard normal distribution is represented by

(A) N(0, 0) (B) N(@,1)

(© N0 W NOD

AL GuBlenars LTaiee arar GO,

@) NQ©,0) = ®) N1

© N0 D N©,1)
13

117/DD/18
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39.  Which of the following measure is most affected by extreme value

. (A) SD
(B) QD
(C) MD

JBr Range

eflafiby &liLserme Blseyld undlEsiu@ID SiaTeneu e1g)?
B B s |

(B) smewrar eflevdsd

(C)  sgmeM aﬁleué;aib

D) = ofés

40. - The Conditional Probability of B given A is

P(AnB)
- P(B) .

- P(ANnB)
o a2

(A)

P(A v B)
@ -
P(AuUB)
P Tr@

A gl Qunmés B aremp flapsflaatear Aubgmen Hlapssey

P(AnB)

(A) PB)

P(An B)

= P(A)

P(AU B)

(©) PB)

P(AuU B)

D) PA)

117/DD/18 = ‘ 14
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" DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)

Maximum Time : 1.30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleuren eflenL_wefl&@Ld cuens ellanmsgmer

Read the following instructions carefully before beginning to answer the questions.

eflemasené@ eflen_wafldes Qam_mELh (peL| SSE@TL. SiHle|IHamaT SEUGTLONES Lilg.&&6 L.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.
eflenL_sener @MU (Herer erantenflsamad@ sidswns eripdudmuber, el ssratlen @mduflad o drer
<ds eramanflEenaularear eflenLgar LHOILEH CewwiuL g

ho

In case of doubt, English version is the final.

eflamsseticr #bCss0lmLIG6m gphidle eugeia ar@asiiu’(Herer ellammasCer @midlwimerg,.

Answer any EIGHT questions : | (8 x 3=24)

arenauCignb et eflanTés Ehs @ eflanweflEaey b :

1 Find Median from the following data.
25, 20, 15, 45, 18, 7, 10, 38, 12.
1Geimeu(mib efleuTmhisEndE, Gl Flana iaTe| HTams.
25, 20, 15, 45, 18, 7, 10, 38, 12.

o

Define Standard Deviation.
L eflewsssams eueanym.

[Turn over



10.

11.

Define Kurtosis.

SL_EDL SETENEU UL

Define Correlation.

sal_(hmeys euenyumi.

Define Regression.

2Lt GlgmiL Cumré e euenwimy.

Define Probability.

Popsse) auwrug.

Define Binomial distribution.

FFHDILILL LITeU6) euenwy.

Define null hypothesis and alternative hypothesis.

Qe erayid er(Gamer HMID WIHD er(H CaTeT cuemFWI).

Define degrees of freedom.

QUEHIWIMHD LITGNSSHET 6TeTD LISSenS ellard @,

Define student t-statistic.

e BLeirigen t-yerafludwed wrleow euenyueann Gauis.

Answer any THREE questions :
erancuGuignd epesrm eflenTésEhsE eflen_wallGsayb :

Find Standard Deviation from the following data.
Weight: 60-62 62-64 64-66 66-68 68-70

No. of persons: 8 26 32 28 5
eimeu(mid @‘j‘lmmé;&@éa;rrmﬁg._ llevsss5mss STeims. -
aoL:  60-62 62-64 64-66 66-68 68-70
BLIT&ET: 8 26 32 28 5

117/DD/18 2
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12.

13.
14.

15.

16.

L.

18.

Find Correlation from the following data.
X: 10 12 14 16 18 20 22 24

Y: 20 18 15 13 12 9 10 7

~ Yleireu(mid Lerell efleurmas@epésner gl (ped depellar smams.

X: 10 12 14 16 18 20 22 24
Y: 20 18 15 13. 12 9 10 7

Explain Addition theorem of probability of any two events.
gCaanbd Q) HlapaslseErsarar Hlapsseilan sl Lo Canmsams efleuflés.

Write the properties of Normal distribution.

@ueblenels ugeuadler LicwTLser efleuflgse,b.

What are the procedure generally followed in testing of hypothesis?
T (HCasmer Cangenamuler Cumg Gurgieurs AeruHnliLBD aulApEDEET Wrane?

Answer any THREE questions : | Bx7 =21)
areneuGuigid ppem eflammésEnsE eflen_wallEseyb :

The following series related to the marks secured by students in a examination. Find the

mean and median.
Marks: 0-10 10-20 20-30 -30-40 40-50 50-60

Number of Students: 4 6 10 20 6 4
Carefley memreuser Gumm wHlbueammser beareumuomm CarhissiuLl(HeTerg). @ eummler
wHUQUTSET: 0-10 10-20 20-30 30-40 40-50 50-60
LD ITEHT U T&H TG0 6T EuoTeu] &Hend: 4 6 10 20 6 4

sl H&egradl whmib @ent_Hlenaés ST,

Find two regression equation for the following data
X: 42 44 58 55 89 98 66

Y: 56 49 53 58 64 76 58

Ylemeu(mid @) Lnrr;fﬂ&;mﬂﬁiﬂ w&llyse demmyl Cursg swearur’ el Hlirarublsseb.
X: 42 44 58 b55 89 98 66
Y: 56 49 53 58 64 76 58

Explain Moment Generating function.

eflevgsl QUmEESs smans elleuflés.

3 117/DD/18
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19.

20.

A test of the breaking strengths of the different types of cables was conducted n, =n, =100

using samples of Type of cable

Cable T . Cable II | @
%, =1925 %, =1925

Do the data provide 1% sufficient evidence to indicate a difference between the mean
breaking strengths of the two cables? Use level to significance. (o =1% = 2.58)

Qe euamaswrer Calarsaflen 2 enLu|b gearmwenw Cergear Qeliw n, =n, = 100 eremm ojereded

Qe ® cuamasulgib eeuQeurm wrdfl edésiiu@Hns.

Calear] : CaGer IT
%, =1925 %, =1925
o, =40 o, =30

@ren® Cslersefler 2 e uyb seanaowlen  dlsHunsseamss sramr QAerGEsiul L efleurige

Gurngiorer sremm smEDsT? 1% Al srar. wlLsmsl LwaL(sss. (@ =1% = 2.58).

1000 students at college level were graded according to their IQ and the economic conditions
of their homes. Use x” test to find out whether there is any association between economic
condition at home and 1Q. (a =5% = 3.84)

IQ
Economic condition High Total Total
Rich 460 140 600
Poor 240 160 400
Total 700 300 1000
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